$160 JLTFLEBNT D VRFIE
(50m A EARR]) 68248 (8)

TEN Nz (Tension) 1 =8 MF RIPARI)
RS AIEK (Tension) 84 85 £ A8 OROP/RI)
10:50 10:60
, BORBE (PFIITC) p O3 T (F-LTK)
AR &=/F (TTATH) _| HE B (F-ALTK
LBl #F (py=z  _IB0 [81 80 L ER EB (G2
NERAS (Tension) wo[ BB #F (Fab)

, ZEB 2@ (NBT.G) |_14 SORBF (FERTC)
A Ex (FZ2ATH) I\FB BF (@%RRTC)
10:50 10:560

; RESSF (BERTC) 82 |83] 84 s WETRS (oL 2ERED)
BROEH (FB%RTC) SBRENS (OBMLTC)
8b 82
g LB R (BRRTC) s LF 83 (TCS)
®JI| FH (T.bonbon) 81 85 unvjil B (XDIL\ZFREIKER)
10:50 10:560
LB BT (T o BB HF (NBT.G)
Bp AF (Tx—F+.2V) _I B8R B3 (NBT.G)
s BUWNEHK (75) MICE o BEFTS (Tension)
BE &3 (U3 o7 81 81|_ IRFABEEZE S (Tension)

9 EMEZES (Tension) I_19 JINEBB FI (T.bonbon)
ST RF LR TYRLS) TH Hsx FILTY)
10:50 10:60
0 BB BRI (0IL\ZERD) 85 81 oo XE 8 (Tension)
BB RF (OITL\ZREIKZ) S AF (FBXRTC)

>~ —R
1. R e 2. NGE-= 3.4 5Tl WARBIR

XS FERAUD
XS TERLD

SCEN' EU\IE8:45ICESL TIEEL
LED DDHF20DRIETICRTVZEFIT T TS,




JIEREKDH
RBIIEF

(FEKEE)
(PF3ITC)

PN
42

R_RT
T

(F—=LTK)
(F—=LTK)

86

AR
@l AR

R

(ROPRD)
(ROPRD)

80

b B
PRNHET

(MTC)
(MTC)

86

WO =88
BPBES

(RILT1Y)

(XOFL\ZREIKEE)

PN FF
REBES

(F8%RTC)
(F8%RTC)

86

X EF
WAHED

TE32)
Te3)

84

N B3
WEELNR

(Tension)

(F—=LTK)

82

WHW<Z
BR RF

(EREG.T.C)
(EREG.T.C)

10

BARSRT
PAZRF

(ABMLTC)
(RHBMLTC)

82

83

1l

= HF
mr =¥

(EREGC.T.C)
(JPILS)

82

12

B8R
V]

IE=
EES

(F=LTK)
(F8%RTC)

83

13

Bz
HE

B
7 953

(NBT.G.)
(H7RHBIRTS)

14

—_F
=

BEs
nE

(T E3)
(FRI—HTH)

83

86 82

E1B0 JLTFLBNTOIEFIE
(50 EBik] 68248 (A)

83

58 |B¥

© an &=

(F8%RTC)
(F8%RTC)

80

TH BT

T N\EBES

(FEEKEE)
(OENOTC)

E T|T

B RBOEH

(NBT.G.)
(JPILS)

83

82

XE &

Y& a3z

(XOTU\ZREEKED)
(BYF—T.0)

86

FF

=R
20
B8

IS

(J3—3—-T.C)
(J3—3—-T.C)

ER

AR

=3

21 ISES

(MTC)
(MTC)

15

B
B

e
BE

(I )J3—3—-T.0C)
(T-Step)

86

LNR-RB/

82

80

2. MR- LUAR

86

2 BT S8
PFE EF

(09 L\ ZREEKEL)
(J3—3-T.C)

83

b WP 2F
SRERS

(RIPRD)
(RIPRD)

86

T&5

B0
Ex Mz

BX

(TUTATR)
(TUTATR)

23

HE
25 =N

AR

(MHC)
(PE2ITC)

98(1)

83

26 }/l\H:]

o

=
BF

(FEIKEE)
(T Z2ATH)

84

ABEHF
T s

TE32)
Te3)

80

2 AR
R *F

(HBMLTC)
(RABMLTC)

> —R

3.4.;0%-UZE

¥8:45[CESLTIZEL .

o M T
iRERF

(ZONE)
(F—LTK)

ESpaniuslic]




180 JLTFLBNTSIEFIE
(50 ECD#k] 68248 (8)

B Fs LRBIRLE) g MEBES (NBT.G)
MBHAED  (J3—23-T.C) 85 85 t#HZFBEs (NBT.G.)
NBRBED  (JPILER) o BB F/ (T-Step)
¥B _#ls  (@BXRTC) 1 NPHBET  (0IL\Z2EKRE)
=RERF  (@ERRTC) T W5 (FB%RTC)
rxg EF (Tension) W.0 83 82 P RNEFFENS (Tension)
DN B (VLB I #E BEF (FBHRRTC)
86 83
Eiff BF (F=LTK) 13 BOREESEF (Tension)
PUWAEF  (EIKEE) 97 89 KE [FE EKRBG.T.0)
TF #F  (UP.Set) u NF —% (GSH)
KW FKF  (FZAAAH) NE IBF (GSH)
BEHRT  (J5-3-T.0) 41 85 s Bl BT (FRY—H)
WeB &= (J3—31-T.0) S8 BE FRY—YT1M)
FE T EAEGT.O) 83 B2, I HF (rE3)
Bm =5 EHXREGC.T.C) BARRBRE  (MHC)
Y —R
1. EREREB 2. VB KR 3.4, Bl REF-HE

¥8:46[CESLTIEE0 .




1

N FF
BHIERS

PN
B85

R
=

BoE AF
B)1EKkbH

Bl Ws
S8 BF

£16@ JLTFLENT TVEF1E
(65mEL EABR] 68248 (R)

TE32)
T3

(BHPIBTC)
(BBHPIBTC)

(Tension)

Fv)

(HBMLTC)
(EEMO—2/TC)

MEHDOF (J3—23-T.0)

__ BHBES
82 wo|l B BX
98 BE B3
| 2R =3
85 82
tH B3
BhER
82 W.O_ ;@E =23
Pl FI=
y—f
LT 2. BRFE
X8:45[CERBLTIZELN

(66m ECDil] 68248 (H)

(0T L\ZREIKSE)
(0T L\ZREIKEE)

(F8%RTC)
(F8%RTC)

(ZONE)
(NNTC)

(D1TR)
(EREGC.T.C)

MITFLF (T/A—=W)

' BIBERF (PFSITC) O B R
, 85 83 (J3-3-T.0) 10:50 s I IRF (PSS
, ZB_BF (9 84 s KB RE (NBT.G)
NNOBES (D17U8) BERESF (NBT.G.
> —p

1. MR-

XIS FERZIDEE N Z\S(E8:45([CFEEL TIZE .
XA S FERRIDGCEH D DDF20DRIEX CTICRUZEBFLTETIZE.




